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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Baoklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (), {b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

Iffustration:

1. Thesumof20and 12 s

@) 32(b)38(c)31(d)34

The Correct answer of item 1 is {a), which should be
marked in OMR Answer Sheet as under:

1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Mall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
ane mark.

Use of calculator/mabile/any electronic itermn/
objectionable material is NOT permitted.

Controller of Examination

P e X 13 aref friteygfaen YRR & ol & ot e & aifiyey mrT ST

Please note that in case of any confusion, the question printed in English will be considered final.
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In June 2018, the Reserve Bank of India
conducted a Financial Literacy Week with a
focus on creating banking awareness. Which of
the following was the theme of Financial
Literacy Week?

a. Know Your Customer.

b. Customer Protection.

¢. Know YourBank.

d. ‘SafeBanking.

Under the chairmanship of which of the
following committees, it was recommended a
five-pronged strategy Project 'SASHAKT' to
deal with non-performing assets in the
country's banking system?

a. E Sreedharan committee.

b. Rajesh Bindal committee.

c. Subhash Chandra Garg committee.

d. NGopala Swami committee

What is the Statutory Liquidity Ratio (SLR) at
present?

a. 20.25%.

b. 19.75%.

c. 19.25%.

d. 19.50%.

Which committee recommended the Reserve
Bank of India (RBI) set up a Public Credit
Registry (PCR) to check loan defaults?

a. AK Bhuchar Committee.

b. B Venkatappaiah Committee.

¢. Goiporia Committee.

d. YM Deosthalee committee.
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What is the full form of CVV?

a. Credit Verification Value.

b. Currency Verification Variable.
¢. Customer Verification Value.

d. Card Verification Value.

‘QIP’ is, at its core, a way for listed companies
to raise capital, without having to submit legal
paperwork to market regulators, majorly used
in India and other south East Asian countries.
What does ‘QIP’ stand for?

a. Quality Investor Protocol.

b. Qualified Institutional Placement.

c. Qualified International Programime.

d. Qualified Institutional Programme.

Which of the following is called a GDP
deflator?

a. Ratio ofnominal toreal GNP.

b. Ratio ofnominaltoreal CPL

c. Ratio ofreal to nominal GNP.

d. Ratio of nominal to real GDP.

What is a follow-on public offer (FPO)?

a. Issuance of new shares by a company.

b. Issuance of new shares after issuing already
existing shares.

¢. Issuance of debt of the company.

d. None.

------------- is not constrained by prior work.
Joint venture.

Franchise.

Strategic alliance.

Greenfield project.
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According to Keynes, the business cycle is
caused by variation in the ratio of investment
due to fluctuations in which of the following.

a. Marginal efficiency of capital.

b. Marginal propensity to save.

¢. Marginal propensity to consume.

d. Marginal efficiency to investment.

Which among the following is one among the
five indicators used by the United Nations
development program in its annual human
development report for a gender-related
standard of living?

a. Genderdevelopment index.

b. Gender empowerment index.

c. Genderempowerment measure.

d. Genderparity index.

With the reference to the statutory liquidity

ratio (SLR), consider the following observations:

A. Banks can keep cash, government bonds as
well as gold to meet their SLR requirements.

B. SLR is one of the means to finance the
government’s fiscal deficit.

Which ofthe above is /are correct statements

OnlyA.

OnlyB.

BothAandB.

a
b.
c
d. Neither AnorB.

Which economist is famous for the series of
economic earthquakes that rocked America and
the world during his tenure as chairman of the
Federal Reserve?

a. AllenGreenspan.

b. Jerome Powell.
c. Paul Volcker.
d. RoyAyoung,
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64. What is the grant is announced by the finance

65.

66.

minister for COVID vaccine research?
a. Rs500crore.

b. Rs750crore.

¢. Rs900crore.

d. Rs1200crore.

Which of the following statements is /are

correct about the union budget 2020-2021

a. Budget estimates for the defense sector are

Rs 323053 crore.

Budget estimates for fertilizers subsidy is

Rs 115570 crore.

c. 100 more airports would be developed by
2024.

d. National recruitment agency will be set up
as an independent agency.

b.

Consider the problem of testing HO: 6 = 0
against H1: 8 = 1/2 based on single observation
X from U (6, 8 +1) population. The power of the
test“Reject HOif X >2n/3 is

a. 1/6.

b. 5/6.

c. 1/3.

d. 2/3.

67. Suppose A and B are events with P (A)=0.5,P

68.

(B)=0.4andP (AN Bc¢)=0.2. Then P (Bc|AU
B)isequalto

a. 172

b. 173

c. 1/4

d. 1/5

If the standard deviation of 0, 1, 2, 3 9is

K,, then the standard deviation of 10, 11,
12 19willbe

a. K+1
b. K

c. K+
d. K+8
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69. According to Componential theory, in addition

70

to intrinsic tagk motivation, which of the

following Tepresents components that are

essential for the generation of creative

responses?

4. Domain skills, Creative processes, mtrinsic
task motivation, and social environment.

b. Domain skills, cognitive processes, and
social environment.

¢. Domain skills, curiosity processes, intrinsic
motivation, and psychological environment.

d. Knowledge, Creativity process mtrinsic
motivation, and social environment,

Which of the following statements are true,

about information Processing speed?

A. When people have to do simple tasks, older
and younger aduits do not differ much in
reaction times,

B. Because there is a slowing down of neural
transmission as one grows older (caused by
slowing Synaptic Communication), one’s
reaction time becomes slower.

C. The slowing down of information
brocessing speed does not affect general
intellectua] functioning,

D. To be able to Process information fast jg
important in most activities of oy daily
lives, butnotse much in sports or driving,

The correct answer is:

a. (A)&(B).

b. O & (D).

c. (A), (O & (D).

d. Alltheabove.

70. m%ﬁ%ﬁﬁﬁa%ﬁaaﬁ
@ﬁ?mmﬁrm%‘?

A S G B W o

PR BIT B, o 5
ﬁ@%mﬁ%m%mﬁm
e e g

dlar 89 %m?‘rﬁaﬁrmﬁﬂmﬁm%
wﬁwﬁmﬁm%ﬁmaw%i
N RO Y Ry et 2 T Ty

Eﬁmmwﬁ?‘aﬂé‘ffﬂm%:
T B o & dafg
ST 81

Wﬁ'ﬁﬁ'ﬂa%:

. (@SR @ |

a
b.
c
d

mﬁﬁwﬁﬁm

G SR (&) |
@ (@ SR &
)




71.

72.

Which of the following statements regarding

achievement motivation are true?

A. Ttis a stable learned characteristic in which
satisfaction is obtained by striving for
excellence.

B. People With a high need for achievement -

seek out situations in which they compete
With some standard of excellence.

C. People with high n-Ach do not choose such
tasks in which success is unlikely.

D. People With high n-Ach tend to be
motivated primarily by a desire to avoid
failure.

Codes:

(®),(C), (D) Only

. (A} (C), (D) Only

(A), (B), (D) Only

. (A),(B),(C) Only

oo o

According to Biederman’s ‘recognition by
components’ theory of perception, edges have
the following invariant properties:

A. Curvature.

B. Co-termination oflight shade.

C. Symmetry.

D. Collinearity.

Select the correct option codes given below:
Codes:

a. (A),(C),and(D)Only

b. (B),(C),and(D)Only

c. (A),(B),and(C)Only

d. (A),(B),and(D)Only
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Papez discovered the neural mechanism of
emotion known as the “Papez circuit”. This
involved the connection of:

A. Cingulated gyrus.

B. Medial diencephalon,

C. Hippocampus.

Select the correct option from the codes given
below:

Codes:

. (A)and(B)Only

. (A)and(C) Only

- (B)and (C)Only

- (A)(B)and (C) Only

C P

joT N o]

Which of the following tests simultaneously
assess personality disorders and the validity of
respondents' answers?

MPL

MCMIand MMPT,

MBTI and MPI.

NEO-PI-R and MBTI.

Do

Prosopagnosia is the loss of:
a. Depth perception.

b.  Colour perceptions.

¢. Facerecognition.

d. Sizejudgments.

In astronomy, the theory of Gaussian “Normal
Law of Errors™ for the study of the movements
of stars and planets is developed by using .
a. Factorreversal test.

b.  Principle of least squares.

C. Minimization.

d. Optimization,
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E(X)=MAisused for which distribution?
a. Binomial distribution.

b. Poisson's distribution.

¢. Bernoulli's distribution.

d. Laplace distribution.

The Variance of the hypergeometric distribution
is given by the equation

a. n*k(N-k)*(N-n)/[N2*(N-1)]

b. n*k(N-k)*(N-n)/[N3*(N-P)]

c. n*k(N-1)*(N2-n)/[N2*(N-1)] -

d. n*k(N-k)*(N2-n)/[N3*(N-1)]

Which one among the following statements is

false in the context of participatory research?

a. Itrecognizes knowledge as power.

b. Ttisacollective process of inquiry.

c. Itemphasizespeople as experts.

d. Its sole purpose is the production of
knowledge.

Researchers measured the same group of
people‘s psychological reactions while watching
horror films and compared those to when
watching erotic films and documentaries about
wildlife. The resulting data were skewed. What
test should be used to analyze the data?

a. Independent analysis of variance.

b. Repeated measure analysis of variance.

c. Friedman’stest.

d. Kruskal Wallis test.

&1. Non-parametric statistical tools are used for all

of the following situations except when

a. Thelevel of measurementis ordinal.

b. Thelevel of measurementis an interval.
¢. The datafollows anormal distribution.
d. Thedataishighly skewed.
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E(X) =\ is used for which distribution?
a. Binomial distribution.

b. Poisson's distribution.

¢. Bernoulli's distribution.

d. Laplacedistribution.

The Variance of the hypergeometric distribution
is given by the equation

a. n*k(N-k)*(N-n)/[N2*(N-1)]

b. n*k(N-ky*(N-n)/[N3*(N-P)]

c. n*k(N-1)*(N2-n)y/[N2*(N-1)] -

d. n*k(N-k)*(N2-n)/[N3*(N-1)]

Which one among the following statements is

false in the context of participatory research?

a. Itrecognizesknowledge as power.

b. Itisacollective process of inquiry.

c. Itemphasizes people as experts.

d. Its sole purpose is the production of
knowledge.

Researchers measured the same group of
people‘s psychological reactions while watching
horror films and compared those to when
watching erotic films and documentaries about
wildlife. The resulting data were skewed. What
test should be used to analyze the data?

a. Independentanalysis of variance.

b. Repeated measure analysis of variance.

¢. Friedman’stest.

d. Kruskal Wallis test.

Non-parametric statistical tools are used for all
of the following situations except when

a. Thelevel of measurement is ordinal.

The level of measurement is an interval,
The data follows a normal distribution.

The data is highly skewed.
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Comparing the times of failure of radar
transponders made by firms A, B, and C based
on an air line’s sample experience with the three
types of instruments are may use

a. Kolmogorov Smirnov’test.

b. Kruskal Wallis test.

¢. Wilcoxon rank sum test.

d. Spearmanrank correlation test.

Match each non-parametric test with the data it is
suited for in the following order: Kruskal Wallis,
Friedman, Mann Whitney, and Wilcoxon
Independent samples.

Independent samples.

Related samples.

Related samples.

@O

PQRS
QSPR
RSPQ
SPQR

e o

Three brands of coffee are rated for taste on a
scale of 1 to 10. Six persons are asked to rate
each brand so that there is a total of 18
observations. The appropriate test to determine
if three brand taste equally good is

a. One-way analysis of variance (ANOVA)

b. Wilcoxonrank sum test

. Spearmanrank difference

d. Kruskal Wallis test

Unlike an ANOVA, the MANOVA procedure

a. Hasmore than one dependent measure.

b. Has only one dependent measure.

c.. Must have no more than one dependent
measure,

d. Must include at least three dependent
measures.

21

82.

&3.

84.

8s5.

®H g, &t o @ grT fPT WU @R
Tiadisr @t fIwaar & ww & gar 9=
UPR & SUDTI & WY T TR =T ¥

THAT ST F STYR T A ST qHa &

2. DITHNIRE BRAETE]

b. PH alieT Ue|
c. AT Ys guiw]
d. WA & gedsy udaur

7% R-AREiRe® wdheror o1 frams g9
g1 & o e Rig 98 Prafaf@a ww d
SUYH §: P aiery, Wiehw, 37 et
R FerepTaa=

W Tadd T
COMRSGERECH
3R, Halded |
T, Gefd T
a. UHRRTY
b. FTUIU 3R
c. SIRTIR

d. U IR

DG & T FiS! B 19 10 F T9R

wWre & forw Ye fpar mar ®1 o )
TAF §i8 & ¥ H & v w7 wiar
T T 18 S[awi® gl U8 Ry w33
fore Sugea wdiemr R i v 9 wis w1 wE
TAF U Y 33T

. faeRur =1 tHww fawiwe (anova) |

. Toveleeis gr e

. iR v

. b dIler Teur

[ o TR B o -

FId TP NI U B

T 9 31fee Sida Surm T 8 iy
HH Y B A AT Ui F1 e
AT TG



86.

87.

88.

9.

Turnitin.com is used in The Human Situation
for

Detecting plagiarism in ail papers.

. Makea copy ofthe paper.

Search engine for the material.

None of'the above.

ao o

In a central composite design, involving two
factors A and B, the response surface is
described by a quadratic model. If the effect of
interaction between A and B is only absent, the
relevant significant effects are from

a. Aonly.

b. AandB only.

c. A,B,A2,andB2.

d. A,B,A2,B2,A3,and B3.

In a factorial design, the 24 design strategy was

chosen, This means

a. Number of experiments is 16.

b. Each of the two variables is varied at four
levels.

c. After the test, ANOVA will NOT be able fo
detect ternary interaction effects between
the variables

d. Nomeoftheabove.

The features of the Box-Behnken design
a. -No Cornerpoints.

b. +3Levels.

c. +fewertests.

d. Allabove,
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90. Which of the following represents traditional
logostic mamagement approach?

A. Independentinventory management efforts.

B. Minimum firms cost.

C. Amount of information sharing and
monitioing limited to current processes.
Small breathdth of the suppiler base to
inrase coordination. ‘

Choose the correct answer from the options
given below.

a. A,Bonly

b. B,Conly

c. A,C,Donly

d. B,C,Donly

D.

91. Statetrue/false

A. Under-positioning and over-positioning are
the same phenomena.

Under doubtful positioning, buyers may
find it hard to believe what the brand claims
interms of product price or features.
A-T,B-F.

A-F,B-T.

A-T,B-T.

A-F,B-F.

B.

oo

92. State true/false

A. Inuser positioning, we position the product
according to the best use.

In competitor positioning, we try to
undermine our product vis-a-vis that of a
named competition.

A-F,B-T.

A-T,B-T.

A-F,B-F.

A-T,B-F.

B.

RO o
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93.

94.

95.

Match List — I with List — II and select the
correct answer using the codes given below the
lists:

List—1I List —II
A .Cost Function A. Kinky Demand
Curve

B. Supply Function
C. Production Function

B. Isoquants
C. Engineering
Method
D. Oligopoly D. Factor Prices

Codes:

(abcd)

a. CDBA

b. DCAB
¢. CBAD
d. ABCD

State true/false

A. For Maruti Udyog Ltd, MRF tyres are
component material.

B. For a household, a cement-concrete mixer

is an industrial product.

A-T,B-F.

A-T,B-T.

A-F,B-T.

A-F,B-F.

o o

The Tax shield would resultin
1. Increase in tax liability.

ii. Increase in EPS.

iii. Decrease in EPS.

1v. Decrease in tax liability.
Codes:

. (1) and (iv).

. (i)and (iii).

. (D)and(iv).

. (iii) and (iv).

[ eI -

[="
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96. The money multiplier in an economy increases 96, Uh 3ffTGRIT & =T oI geaT 8 o

with which one of the following: a1y FEfifaa & 9 uve:

a. Increase in the cash reserve ratio in the R X
banks. a. d%! A g ARG R H 9l

b. Increases in the statutory liquidity ratio in b. S § Jues qRerar T gt
the banks. . W B! ST onmed F g

c. Increaseinthe banking habit of the people. 4 g oTaend Q@ |

d. Increasesinthe population of the country.

97. Which of the following is likely to be themost ~ 97. FFHfifEd & & F19 o™ varwl § Ta9

inflationary in its efforts? ST qErwiae i 8 F yEEr 2
a. Repayment ofpublic debt.
b. Borrowing from the public to finance a 8. TSI H0 B gebil|
budget deficit. b. §WIE YIC & QT B & o7 oA
¢. Borrowing from the banks to finance a JYR 1
budget deficit. c. TOIE UIe I T FA & oy S I ur &1
d. Creationofnew money to finance a budget. d AR s S R 7T ¢ T
98. With reference to Indian economy demnd—pull 98, WR<Ig srforawan & gy & AFT.OERwIR
inflation can be caused increased by which of Fafafea o & fras oRu e aad 2
the foilowmg‘? g, fowrs -Hagai)
A. Expansionsionary Policies. . IreIBIGT viees|
B. Fiscal Stimuls. ' S a
C. Inflation—Indexing Wages. . AL !
D. HigherPurchasing Power. . g Py R
E. Rising Interest Rates. §. ggd =re gi |
::}:::'the correct answer using the code given 419 R 179 e &7 T T A e g,
a A,BandDOI}_ly d. Q’,ﬁ\?ﬁ?@ﬂ'aﬁﬁ'l
b. C,D,andEonly b. i, Y ok § Faa|
¢. A,B,andEonly c. T, 3k Pl
d. A,B,C,DandD only d. g &, ek Fawl
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99. Match the following — 99. Frafuiea o gaRka $ifvg -

A. Destroyer pricing I. Different

regions as A. fowdus gey LHFCE F & UH
criteria. R ol &=
B. Geographical pricing. II. To get a quick B. UNiifere gw 11 U @R foent
C. Promotional pricing. 111 i?leh - R T & fory
. t . IL t A 5 Tﬁ
romotional pricing Jse the c T - &
site/location to :
set the price H P & fag e )
D. Location pricing. IV. To eliminate /RUT ST UL Y
competition D. WM FYR0 v URRgyl # @
a. A-IIL,B-II, C-1V,D-I H & oy
b. A-IV,B-I,C-II,D-II )
c. A-LB-II,C-IIL DIV a. ., & v, S
d. A-ILB-IV,C-1, D11 b, T-Iv, df -1, 9T -I0, B 101
c. W1, 9 -1, ST av
d T, e -Iv, S -1, 8-
100. Match the following 100.FufiRad @1 i &
b Tempstion  Th Stretie A. St 1 SRl
products B. URaefgdid 113Gl I €R B
C. Breaking Bulk I11. Rearrange items C. sfFacs I Wmﬁ
D. Holding stock IV. Break sm'atll D. AT v B2 il a8
packages into Spet B O
small ones :
a. T-HL & -1 W -1v, S -l
a. A-IIL,B-I,C-1V,D-1I b. Ty &, T -1, S
b. A-IV,B-III, C-I, D-II P
c. A-IILB-IV,C-I, D-I c. Q-ILSl-IV, ¥l I, 1 -1
d. A-IV,B-TIL C-II, D-I d. T-rv, s -m, ¥ -1, S -1l
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